
57/1 1 [P.T.O. 

 
 

 
 

 

 .  
Roll No.  

 
  

  ()
BIOLOGY (Theory) 

   :  3     : 70 
Time allowed : 3 hours Maximum Marks : 70 
 

  : 

 (i) -     26           

 (ii)  –     1  5  -  ,         

 (iii)  –     6  10 -   I  ,         

 Series : GBM/C 57/1H$moS> Z§. 
Code No.  

   -  - 
    
Candidates must write the Code on 
the title page of the answer-book. 

SET – 1 

       -    8   

 -            -  -    

       -  26    

         ,       

  -     15        -     10.15  
   10.15   10.30     -         
-       

 Please check that this question paper contains 8 printed pages. 
 Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate. 

 Please check that this question paper contains 26 questions. 

 Please write down the Serial Number of the question before attempting it. 
 15 minute time has been allotted to read this question paper. The question paper will be 

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 
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 (iv)  –     11  22 -   II  ,        
 (v)  –     23          
 (vi)  –     24  26 -  ,         
 (vii) -       ,        ,     

           -       
                

General Instructions :   

 (i) There are total 26 questions in five sections in the question paper. All questions 
are compulsory. 

 (ii) Section A contains questions number 1 to 5, very short answer type questions of 
one mark each. 

 (iii) Section B contains questions number 6 to 10, short answer type-I questions of two 
marks each. 

 (iv) Section C contains questions number 11 to 22, short answer type-II questions of 
three marks each. 

 (v) Section D contains question number 23, value based question of four marks. 

 (vi) Section E contains questions number 24 to 26, long answer type questions of five 
marks each. 

 (vii) There is no overall choice in the question paper, however, an internal choice is 
provided in one question of two marks, one question of three marks and all the 
three questions of five marks. In these questions, an examinee is to attempt any 
one of the two given alternatives. 

 

 –  
SECTION – A 

 

1.                   1  

 Name the condition in vertebrates where the body attacks self-cells. 

  

2.       1  

 Write the function of a Bioreactor. 

 

3.      (-)    ( )       
      1  

 A colour blind boy is born to a couple with a normal colour vision. Write the 
genotype of the parents. 
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4.              -  
     1  

 Mention any two conditions that enhance the chances of syngamy in organisms 
exhibiting external fertilization. 

 

5.                   1  

 Write the conclusion Griffith arrived at the end of his experiment with Streptococcus 
pneumonia. 

 

 –   
SECTION – B 

 

6.                     
      ?                         
     2  

 Plants like potato, sugarcane do not require seeds for producing new plants. How do 
they produce new plants ? Give two other examples where new plants are produced in 
the same way. 

 

7.           2 

 Explain the role played by predators in a community. 

 

8.     ()           2  

 Name the first antibiotic discovered and by whom. 

 

9.               ?    
      2

 
 ABO   - (-)           2 
 What happens when chromatids fail to segregate during cell division cycle ? Explain 

your answer with an example. 

OR 
 ABO blood groups is a good example of co-dominance. Justify. 

 

10.                   
 ?         2 

 What is the pathogenic property of baculovirus, used as a biological agents ? Name 
the genus of these organisms. 
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 –  
SECTION – C 

 

11. () ‘ ’    ?
 ()                  

     
 ()                  ? 3

(a) What is an “allergic reaction” ? 

 (b) Name any two drugs used to quickly reduce the symptoms of allergy. 

 (c) Why do more and more children in metro cities of India suffer from allergies 
and asthma ? 

 

12.    , , , ,        3  

   / 
-  

  

(i)    

(ii)       
  

(iii)    
 Identify a, b, c, d, e and f in the following table : 

Name of Enzyme/ 

Bioactive Molecule 
Source Function 

(i)       a Streptococcus b 

(ii)       c d Immuno-suppressive agent in 
organ transplant patients 

(iii) Statins e f 

 

13.                   3 

List any two types of IUDs that are available for human females and state their mode 
of action. 

 

 14. .    pBR322  (i)   , (ii)  Ori  (iii) rop   
    3 

 Mention the role of (i) selectable marker, (ii) Ori and (iii) rop in E. coli cloning  
vector pBR322. 
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15.                  3 

 Write the aim with which animal breeding programmes are carried. Describe the 
essential steps to be followed in Poultry management. 

 

16. ()          (i)   , (ii)   ,  
(iii)     (iv)    ( )      

 ()       3

 
 ()              (i)  ,  

(ii)  , (iii)    (iv)       
 ()        3 
 (a) Draw a diagram of a sectional view of human ovary and label (i) Primary 

follicle; (ii) Tertiary follicle; (iii) Graafian follicle and (iv) Corpus luteum.  
 (b) Write the function of corpus luteum.  

OR 
 (a) Draw a diagram of Pistil showing pollen tube growth in angiosperm and label  

(i) Stigma; (ii) male gametes; (iii) micropyle and (iv) Ovule. 
 (b) Write the function of micropyle.    
 

17.                ?      
           ? 3  

 What was the challenge for production of insulin using rDNA techniques ? How did 
Eli Lilly produce insulin using rDNA technology ? 

 

18.      , , , ,        3 

.. -I -II 
   

  
 

 

i.     
ii.     
iii.      

Identify, A, B, C, D, E and F in the table given below : 

S. 
No. 

Component-I 
Component-

II 

Chemical linkage 
bonding the two 

components 
Product 

i. A B C Nucleoside 

ii. Nucleoside D E Nucleotide 
iii. Nucleotide Nucleotide F Dinucleotide 
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19.       ‘’            

   -   ‘’         3 

 Name the organism from which the ‘cry’ genes are isolated. Mention with the help of 

suitable example why and how bio-technologists have made use of ‘cry’ genes. 

 

20.               

                   

  ? 3 

Excessive and continuous use of pesticides has resulted in evolution of some new 

species of pests. Explain what must have led to this. What is this type of evolution 

called ? 

 

21.                  

             3 

 Explain with the help of two examples how certain plants have evolved 

morphological and chemical defenses against primary consumers such as cows and 

goats. 

 

22.              ?        

                  

       3

 What type of organs eye of an Octopus and that of a human called ? Give another 

example from the animal group and one from the plants of such organs. Name and 

explain the evolutionary process they exhibit. 
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 –  
SECTION – D 

 

23.                     
               -  
  (-)             
  –  

 () , - (.)     ? 
 ()  ,  -            ? 
 () -                

 ?   4 

 With the revolution in information technology, now it has become an integral part of 
everybody’s life, living in rural and urban India. You are asked to address the 
gathering of students of eco-clubs of your neighbourhood schools on generation and 
management of e-waste. 

 (a) Write how e-waste is generated. 

 (b) Explain how would you address the awareness issue of e-waste management 
amongst the students. 

 (c) How have the developed countries exploited the developing countries with 
respect to e-waste managements ? 

 

 –  
SECTION – E 

24. ()   ( ),           
,         

 ()       4 + 1 = 5  
  

 ()              
 ()             -  

  -       5 

 (a) Explain the steps involved in in vitro fertilisation popularly known as test tube 
baby programme. 

 (b) State the importance of this programme. 

OR 

 (a) State one difference and one similarity between geitonogamy and xenogamy.   

 (b) Explain any three devices developed in flowering plants to discourage self 
pollination and encourage cross pollination. 
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25. ()          ,         
     

 ()              5 

 

                  
                 5 

 (a) Hershey and Chase carried their experiment in three steps : infection, blending, 
centrifugation. Explain each step.  

 (b) Write the conclusion and interpretation of the result they obtained. 

OR 

 Taking an example of white-winged moths and dark-winged moths of England in pre 
and post industrialised era, explain evolution by natural selection. 

 

26. ()              

 ()             

 ()       

 ()          1 + 2 + 1 + 1 = 5 

 

 ()                
      

 () ‘ ’  ‘’      

 ()              1 + 2 + 2 = 5 
 (a) Write the percentage of land area that was covered by forests by the end of the 

last century. 

 (b) Describe any two practices that led to deforestation. 

 (c) State the consequences of deforestation. 

 (d) Suggest a method to overcome deforestation. 

OR 

 (a) Comment on the pattern in which all communities undergo a change in 
composition and structure with changing environmental conditions. 

 (b) Explain ‘Climax community’ and ‘sere’. 

 (c) Differentiate between primary and secondary succession with examples. 
   


